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n’'m channel for , searches
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For the 7,(1600): 6B = o(yp = mp) X B(zy = n'n’) X B(y' = nta n) X B(n = yy) X B(z" = yy)

= (20“}3) X ( 1()(7 )I,QCD X... = ;_11b X...
Against a At use: Against a proton, use:
o(yp — ny A**) = 250nb o(yp — nyp) = 20nb
o(yp = a; A**) = 400nb o(yp — adp) = 20nb
(remember this is for 0.0 < —t < 0.5 (GeV/c*)?) (remember this is for 0.2 < —t < 0.5 (GeV/c?)?)

o(m,) obtained assuming *all* of the I=1 w m* ©~ comes via: m; ->b; m -> w m m. This puts an uppér limit on the
cross section for the production of m; times the branching fraction for m;-> b, «



Analysisof yp »n'n A", n'->ntnn,noyy ATt >ntp
2017 data, n mass constrained

Reaction selection cuts

FCAL shower quality >0.5

Epeam 8.2-8.8 GeV

11.3°< 6, <119 " Avoid gap region between calorimeters
Pikere <1 €M 52 cm< pZy <78 cm

Kin. Fit y? Per NDF <15

Use combo only if combo has not been used with particles in it
|MMZ2|<0.02 (GeV/c?)?

0.1 (GeV/c)2<t< 1.5 (GeV/c)?
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Accidental subtraction
10. M(A*") < 1.3 GeV
11. pn—20<M(@') < u+ 20 or sideband subtractions



|MM?2|<0.02 (GeV/c?)?2

Analysis cuts
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Analysis cuts

M(ATT) < 1.3 GeV 0.1 (GeV/c)2<t< 1.5 (GeV/c)?
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Selecting M(n') signal region two different ways

EtaPrimeMass_accid
Entries 5560249
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Invariant mass distributions after all the cuts
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Selecting 20 region within ' peak

EtaPrimePiMinusMass

Entries 9628
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M(n'm™)vs cos8g, after all cuts

Selecting 20 region within ' peak

CosThetaEta_GJ_vs_EtaPiMinusMass
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CosThetaEta_GJ_vs_EtaPiMinusMass_accid_sideband

Entries 279034
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Cuts to apply

* Number of unused showers

* Energy of unused showers

* Missing energy

* Photon energy

 Look for rho

* Look for baryonic contributions



